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(1) Duestion No. 1 is Compulsory. Il'nm i

(2)  Attempt any three questions out of remaining five,
(3) Figures on the right indicate full marks.

(4)  Assume data wherever necessary.

(5) Draw diagrams / sketches wherever HECCSSUry, :
(6) Use legible lmudwnhng. Use blue / black ink uul\.

[ﬂ] Differentinte between active and [.1.|h.‘1L1.L, 1”311‘1(11!0!,‘!“- LI\FHE sunab]c 7
example.

(b)  What is motion artefact? How it can be m:nn:nm[
()  Explain with a neat diagram L‘]!.:tln:lvle—ukm mu,rt.n.e "
= (d) Define accuracy and precision g,n mg :-.uu.ublc unmplr:

Lﬂmp-lrc between dual trace and; :hml Im.mwsultuamp; VL

Giving suitable example upIum 2615 ordu first mdu .md sr.Luﬂ.d nnjcr
system : - 3 5

Explain the constructfbn andiworking-of LiV.D:T. Explain thel |'1¢i:x_1 “of
phase sensitive Llunudulamr with-the: Ilulp ol netessary. diagrims.:
Explain the use uf‘plr.zoelecinc Inusduu.r :orlhcunnstucmenf UfPT“‘“«“'E
nu:’!-u.rum,:u 3 1 e

Explain with m.ﬂ: dlm_.nun_dsl’h.rén! iiil:l;hmlx of thepmistor linearization -
|{|:u|~1t.mca n! thcnmslor At 250 s IHU{!SI. What will 'be its value if

te l!}pL]dlurL is |namu.;-.cd B 1 59 CL(P=1000K ] What-valuc of resistance to
be connectedtin pnm!IcI iu ]m:::]n,-,L ﬂus ﬂlcnmsfur if-it is to be used in the

mlu... 252 -Hft ~ 3 e ) &3
Explain the pnnclplt. Ufwm'kmg_ ofh lcpmgd:nt resistor.
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